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1. —171ist 111011115 und 7 ist 000001115.
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2. a|bist 0x9F, a&b ist 0x8A, a”bist Ox15.

3. ((((a + (2.0 = 3.0)) < 10.0) && (! b)) |l ((c % 4) == 3))
6.0 false _ 3
7.0 true_
true
false
true

4. void inSiebenersystem(unsigned int z, char s[]) // s: Array

{
int n = strlen(s) - 1;
while(n >= 0 && z > 0) // && statt ||
{
s[n] = '0" + z%7;
n-—;
z /= T; // \= statt x=
}
}
5. int anzahlLvorl1990 (Mitglied m[], int anzahl)
{
int z = 0;
for(int i = 0; 1 < anzahl; i++)
{
if (m[i].geburtsjahr < 1990 && m[i] .nachname[0] == 'L")
{
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Z++;
}
}

return z;

}

6. bool vergleicheUmgekehrt (char al],
{
int n = strlen(a);
if (strlen(b) !'= n)
{
return false;
}
for(int i = 0; 1 < n; 1i++)
{
if(a[i] !'= b[n-1-11)
{
return false;
}
}

return true;
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char b[])



u += 6;

}

else if (a == gelb)
{

u += 5;

}

else if (a == gruen)
{

u += 3;

}

else

{

u = 13;

}

9. O(n); O(1); O(n?).
10. 0;41; 41.
11. -16384; 16384.

12. int g_neu(int a)
{
if(a > 0)
{

return 0;

}

return aj;



